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[Chapter 01] HS=A AY

1.1
[Eol] Ans. a=0, b= 00" a:z—%
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[Eol -~

1.13

[Eol -~

—zx"—6x—1
,(.'IJ _ X
f (2 +z+2)°
f'(z)=—2¢ *sin3z+3e *"cos3z
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. f'(x) =— 4w sinwz cos*wz
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1.16

[Zol] - f'(z)= 2x0052x2— sin2x
X

1.17

[Zoll .. ff(x)dmz %xsin?x—k%cos%—kc

1.18

[Zo]] - f f(e)da= 320 sinE — 4(s” — 32)cos T+ ¢

1.19

[Eo]] .. /f(x)dx: ze® —e’ +¢

1.20

[Zo] .. /f(x)dx: %(e“sinx*ezcosx+0)
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(Bl . [ fle)da=

1.22

[Zo] - ff<x>dt:—§<1—x2>¢1—x2+c
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[Zo]] /5 sin(3t+2.6779)

1.30

[Zo]] /117 cos(t—0.9828)

1.31

[Zo]] /52 sin(2t+5.300)
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1.32

[Zo]] /8 cos(3t— %71')
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